ZIIOREE 2020-2021 2428 A A SR Wl E (A 6)

HEN: F2E

1 EZE cnsEces-109)

. N 1 .
1. & X17X27"'7Xn *HEZEE) E— Xi ~ N(N’iao_Q)v i = 1,2,"',?1. I)_]\]J ;Z(Xl _MZ)Q Eﬁﬁj\%ﬁjﬁ

i=1

2. BN E X ~ t(10), 2501 P(X2 > z0) = 0.05, M| 0= .

i=1

3. CANFA S 1) S 4L L BEAE AR AN (1, 02). BRIEEL6 IR, HARX = ] ZXi:10.7SQ, S, :J L Z(Xi — X)2 = 1.409,
n = n—1

WA p FEEAKT 1 —a =095 FESXIEA CHH t0.005(15) = 2,131, 9.05(15) = 1.753.

\ ‘ o v o1& 1 <« .
4 Xy, X, o, Xy SR Bernoulli S5 E 1K B(n, p) WHHBENIEA X = — 3 X,, 8. = J 2 (X=X
mi= m—1 =1

# X +kS? & np? MMM, W k=__
5. VAR X IHERBEEREON f(2;0),X1, X, -+, X,, 7R H BRI R R REHUREA.
FIEEE Hy: 0 =00 < Hy : 0 =0, {1 UMP &5, FIFHLSRILIELRTE, 43808
2 IEFERR amxesn-109)
6. W X1, Xo, -+, X,, RKRHEEE U(6:,6,) WA HFEHIFEA, Hrb 0, TR0, AR&, W REGiHE.
AXI +X,+X -0, Bumin(Xy, X, X3) + 6, C.X — 0,02 D.S? — 6,62
7. MR X ~ N(p,03),02 BRI FEARRE n ABR, FFEEHE 1 — o B/, W o MEEXRE_ .
AL KA/ B. KEAX C. KEAA D. L\ E#f AT RE

8. B X1, Xo, X3, Xy EKH G N(0,4) KA BRENREA, & WIFEHLARRE X = a(X; — 2X,)% 4+ b(3X;5 — 4X,)?
oA x> o0 A
A.a:i,b:i B.a:i,bzi C.a:i,b:i D.a:i,b:—
12 28 20 100 30 40 40 60
9. B ik IR 1) :

A BN IESBARIME p 1 95% BAGXIEZ (8.6,10.4), XEME 1 H 95% MR IELE (8.6,10.4)
B. RENSH BRI T2 ME—
C. fEfisck e, R Ho FIXISIAR Y Hy A7 2 745 1)
D.UMP #5562 $8 76 Bl 25 — SRERMER A o MR, JR58 SRR /M 36
10. W X1, Xo, -+, X, KRB LEME X ~ N(p,02) FIFEAR, K o2 O BHERZEMEKT o =0.05 T2 T Ho: p = po,
MIFE R ZE K =001 F, FHSGRIERPZ_ .



3 BRERR (nmxi29—1s5)
11 % X1, Xo, -+, X, RELME U0,0) MRRFENFEAR. BEBRRIRHE Hy - 0 =3 « Hy : 0 = 2, {435
W ={(X1,Xs,---, Xp,)| max(Xy, Xo,- -+, X,,) < 1.5} 3K:(1) DIRCEREL(2) 26 %*ﬂkk**’fﬁl%ﬁ’ﬁ%$$ﬂf/‘h7k$

12, WRMA X BB L RRECN f(25 1) = Xjutoo) (@)e" ™" Hoh e R BARMBE X1, Xo, -+, X, 422K H B ] 5
BEALFEA.

(1) RS p WFERTE g MERKAVRAET fing;
(2) HIB g A0 fupy R p TG &, WEHMTE L, JFRPIA WA T TR E.

13. W X1, Xo, -+, X,, &K H Poisson 70 5 P(N) BT ERBENIEEA, Ho A > 0 ARMSH

(1) SRRFISHE N R TEEFIE; (2) 3K g(\) = X [ UMVUE;
(3) AW (2) ) UMVUE BI77 Z & 7515 %] Cramer-Rao T 5t.

4. % X1, Xo, -, X,, 7&RE B N(u,3%) B REEHEAR, Kb pe R ARMSEL
SRIGI R Hy 0 0 >0+« Hy : 0 <0 HIKF o f) UMP #56.

4 WERARE (12 4)

6
15, B X, X, o, X, AKE TSR X MIRBEILEEAR, B Y= £ 3" X0V = - ZX“SQ ZX V),
Y }/2 =1 =7
S V2
5 KB engxion—0%)

16. £—1E 20 MR 20 N _E, 20 3R LA 0,1,2, - -, 9, BANEUFER NI _ AR, WIS E 2 B R AR, JLi T
800 RIHIRLE, #170,1,2,--- ,9$EEL755’J/@MDT. ) BEAAE B E K Fa = 0.05 RN NIZ 20 THAEZ SIFRI?
X2.05(10) = 18.307, x2 45(9) = 16.919, x2 405 (10) = 20.483, X2 15 (9) = 19.023.

KAE Z ~ t(2).

¥ 0 1 2 3 4 5 6 7 8 9
¥ 74 92 83 79 80 73 77 75 76 91

17. FHH R E 5 AMRES T E NI S ELIEN 3.25%,3.27%,3.24%,3.26%,3.24%. &I E (H SRR M IEAS 0, HS 5
VIRF. M FEREMEKF o =0.01 FEESANXHT #PH) Ni S EHMEN 3.25%?



